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Method of Steve

• Correction use D0 sweighted data and MC

• 𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐 fit function

• 𝑓 𝑡𝑟𝑒𝑐 MC 𝑡𝑟𝑒𝑐 distribution

• 𝑔(𝑡𝑟𝑒𝑐) = exp(−𝑡𝑟𝑒𝑐/𝜏fi𝑡)/ exp(−𝑡𝑟𝑒𝑐/𝜏𝑠𝑖𝑚)

• 𝛽(𝑡𝑟𝑒𝑐) = 1 + 𝛽0𝑡𝑟𝑒𝑐
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𝛽 = 1 + 𝛽0𝑡𝑟𝑒𝑐
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Comparation of D0 data and MC
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Efficiency of D0 data compare with MCTau distribution of D0 data compare with MC



𝛽(𝑡𝑟𝑒𝑐) = 1 + 𝛽0𝑡𝑟𝑒𝑐
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Fit function:   𝑎 ∙ 1 + 𝛽0𝑡𝑟𝑒𝑐
𝑎 = 0.38 ± 0.013
𝛽0 = 1.78 ± 0.09 × 103 𝑛𝑠−1

𝜒2/𝑛𝑑𝑓=275/28

𝜀𝑑𝑎𝑡𝑎
𝜀𝑀𝐶



𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐
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𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐
𝑓 𝑡𝑟𝑒𝑐 = keyspdf of MC 𝑡𝑟𝑒𝑐 distribution
𝑔 𝑡𝑟𝑒𝑐 = exp(−𝑡𝑟𝑒𝑐/𝜏fi𝑡)/ exp(−𝑡𝑟𝑒𝑐/𝜏𝑠𝑖𝑚)
𝛽 𝑡𝑟𝑒𝑐 = 1 + 𝛽0𝑡𝑟𝑒𝑐



-log(likelihood) scan
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Bin0-1
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Bin2-3
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Bin4-5
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Bin6-7
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Bin8-9
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Bin10-11
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Bin12-13
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Bin14-15
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Bin16-17
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Bin18-19
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Bin20-21
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Bin22-23
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Bin24-25
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Bin26-27
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Bin28-29
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